
Тест: «Умножение обыкновенных дробей» 
Вариант 1 

1. Выполните умножение   
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2. Выполните умножение   
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 .  

1) 
1
6                        2) 

1
7                             3) 

1
9                            4) 

1
14  

3. Выполните умножение   
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4. Найдите  
2
7  от 42. 

1) 147                   2) 14                          3) 12                         4) 21 

5. Упростите выражение:. х
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5х
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Тест: «Умножение обыкновенных дробей» 

Вариант 2 

1. Выполните умножение   
34

28
 .  

1) 
3
4                        2) 

3
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2. Выполните умножение   
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 .  
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4
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3. Выполните умножение   
1 11 2
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 .  
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4. Найдите  
5
6  от 42.                                

         1) 35                         2) 7                             3) 5                             4) 50,4 

5. Упростите выражение:. х
9
2х

9
5

   

1) х7                        2) х                           3) х
7
9                            4) х

9
7  



 
Ответы: 
 
Вариант 1 2 3 4 5 

1 4 1 4 3 2 
2 2 2 3 1 4 

 


